YPpok MaTeMaTHKH HA AHTJIMHCKOM fI3bIKe, 4 KJIacC
(Cc HCIOJIb30BaHMEM TEXHOJIOTHH MPEeIMETHOI0-SI3bIKOBOI'0 HHTEITPUPOBAHHOI0
o0yueHus)

Bockpecenckas I'.B., yunrens MaremaTuku
MaitopoBa TaTesina CepreeBHa, yUUTENb aHTJTUUCKOTO SI3bIKA
bapeimaukoBa E.JO., yuuTenb aHTTIMKACKOTO SI3bIKA

Tema: PemieHue 3a1a4 HA HAXO0XK/AeHNE BPeMEHH, PACCTOSHMSI, CKOPOCTH.

Heab: co3nath ycinoBus Ui OBJIAJCHUS YYallMUMHCS YMEHHMEM pellaTh 3a7auyd Ha
HaX0XJCHUE BPEMEHH, PpACCTOSIHUSA, CKOPOCTH, OOECIEeUUTh pa3BUTHE HABBIKOB
TrOBOPEHUS; pPa3BUBaTh U COBEPIICHCTBOBATH TBOPUYECKUE CITOCOOHOCTH, MBIIIJICHHE,
NO3HABaTEIbHbIE M peueBble yMeHUs. Pa3BuTHE HABBHIKOB CIIOKEHUS U BBIYUTAHUS
(mpuMepsl) Ha aHTJIMICKOM SI3bIKE.

Tun ypoka: KOMOMHUPOBAHHBIH.

I[Inanupyembie pe3yabTathl (IpeIMeTHbIE): aJCKBATHO MPOU3HOCIT U PA3IUYAIOT
Ha CJIyX 3BYKM M 3BYKOCOYETaHMs; BOCHPOU3BOIAT I'papruecky KOPPEKTHO YMCIA;
COCTaBIIAIOT MPEJIOKEHUS C UCTIOIB30BAHUEM TPAMMATUYECKUX CXEM; TTOBTOPSIOT 32
y4UTEJIEeM 3BYKH, CIIOBA U MPEMAJIOKEHHS; JEMOHCTPUPYIOT Oarax JEKCHYECKOTO U
rpaMMaTHYECKOr0 MaTepuaia U MpuoOpPETaIOT OMBIT €ro MPUMEHEHU .
YHuBepcajibHble y4eOHbIe 1eicTBUA (MeTanpeIMeTHbIE):

JINYHOCTHBIE: MMEIOT JKEJIaHWe YYUTHCS, MOHUMAIOT 3HAYEHUE 3HAHWM 4YHCeNl U
MPOCTHIX MATEMATUYECKUX JACUCTBUHN ISl UEJIOBEKa U MPUHUMAIOT €TO.
PeryisiTuBHBIE: KOHTPOJHPYIOT CBOHM JCUCTBHS MO TOYHOMY M OTEPATUBHOMY
OPUEHTUPOBAHUIO MPUHUMAIOT Y4YEOHYIO 3a7ady; YYacTBYIOT B pEUICHUHU 3a7ad U
IPUMEPOB.

Ilo3naBaTe/ibHbI€:  COCTaBISIOT OCO3HAHHBIE M TPOU3BOJBHBIE  PEUEBBIC
BBICKAa3bIBaHUSI B YCTHOM (opme; (OopMYIUPYIOT OTBETHl Ha BOIPOCHI YUUTENS U
co0eceTHrKa; OCYIIECTBIAIOT MOUCK HEOOXOIMMOM MHPOPMAIIHH .
KomMyHnKkaTHBHBbIE: OOMEHHUBAIOTCSI MHEHUSIMHU B Mape U TPyNIe; CIyHIaloT APYT
Apyra i BOCHPOM3BEACHHMS W  BOCIPUATUS HEOOXOOUMBIX CBEACHUU U
noJiiepKaHusl ydeOHoil Oecezbl; MOHUMAIOT MO3UIMIO MapTHEpPa, B TOM YHUCIE U
OTIMYHYI0 OT CBOEW; COIJIaCOBBIBAIOT CBOM JCHCTBUSA C Y4YUTEIEM U
OJTHOKJIACCHUKAMHM.

OO0pa3oBaTeabHbIC pecypehbl: IPE3EHTALM, Pa31aTOUYHbII MaTepHall.

1. MoTuBanMOHHBIH dTAN
- Good afternoon! How are you? Our lesson is Math in English today.
AKTya.]II/BaIII/Iﬂ NMPEKHNUX 3HaHI/II71, IMMOCTAaHOBKA LICJIN YPOKaA
- Look at the blackboard, please! What do you see? (a formula, a plane, a car)
- What idea comes to your mind when you see these things? What will we speak
about?



- In everyday life people travel to different places and every time he/she goes
somewhere, he/she thinks about time, distance (how far you go), and sometimes
speed.
- Do you like travelling? Do you want to visit England? Why not go to London?
What can you travel by?
- Well, what’s the aim of our lesson? Yuamuecst U3 pa3pe3aHHbIX KapTOUYEK Ha CTOJIC
cocTaBystoT 1enb ypoka — Which is the most comfortable transport to go to London:
by car or by plane?

2. CucreMHasi aKTyaJu3anus ONMOPHBIX 3HAHMIA.

Ha crome JaHbl TPEYTOJIbHUKH, Pa3pC3aHHLIC HA YaCTH. anmnecsl CO6I/IpaIOT TpH
TPCYToJIbHUKA U COCAUHAIOT C q)OpMYJIaMI/I.

- Put all parts of a triangle together (there are three of them) and match them with
formulas.

Distance = Speed x Time

Distance
Time = ——r
Speed
Distance
Speed = ——
Time

Look at the words you may need:
(%) multiply by



(=) divide by
=is
V = speed (how fast you go)
t =time
S = distance (e.g. the distance from your house to your school is 2 kilometers)
VYuyarniuecs MOBTOPSIOT CJIOBA 32 YUUTEJIEM, COCTABIISIIOT (POPMYIIBI.

4. Peuienue 3a1a4 HA HAXO0K/IeHNE BpeMeHH, PACCTOSIHUS, CKOPOCTH.
- Well, we can go to London by plane. Think and solve the following problem in
groups. The distance from Moscow to London is 2500 kilometers. The time of flying is
4 hours. What is the speed? (Pacctossuue mo mpsimoii ot MockBel g0 JIoHAOHA
coctaBisier npuMmepHo 2500 kM, Bpems mojera B cpeaHeM 4 yaca. Belumcaurte, ¢
KaKOH CKOPOCTBIO B CpEAHEM JICTUT camouieT? (625 km/9))
- This is the average speed— cpennsst ckopocts.We do not mind the speed of leaving
and arrival. (3mecy MBI He OepeM B pacueT CKOPOCTh IpH B3jeTe, mocazike.) That’s
why the plane leaves at a speed of 840 kilometers per hour. The height (BbicoTa —
MoKa3aTh pykoit ¢ camoisietoMm) IS about 11 kilometers. (ITosromy, xorma camorer
MOJTHUMACTCS Ha BBICOTY MpUMeEpHO 11 KM, ero ckopocTh pocturaeT 840 km/4.)
- There are a lot of airlines. You can find a list of time tables on your desks. There are
different airlines with the flights from Moscow to London. You see there is the time
of leaving and arrival, the ticket price and a direct flight (we do not have to change
the flight) too.
Your task is to solve the problem and fill in the time of flight, the time of arrival to
London, if the difference of time is 3 hours, e.g. It’s 3 o’clock in Moscow now, but
it’s 12 o’clock in London. Answer the question: What flight will you choose and
why?

[lepenetrsl 1O JaHHOMY MapIIPYTy OCYIIECTBISET OOJBIIOE KOJUYECTBO
aBMAKOMITaHHUM. Y Bac Ha CTOJAX JIEKAT TAOJIMYKU C PA3TMUYHBIMU aBHAKOMIIAHUSMH,
KOTOpBIE OCYIIECTBIIAIOT TepeneThl n3 MockBel B JloHmoH. B Tabmmme mokazaHo
IpsAMON peiic WM ¢ TepecajkamMu, BpeMs BbLJIeTa M IpUjeTa, IeHa Ouiera. Bam
cervac MpeACTOUT BBIUYKUCIUTh U 3aHECTU B TAOJUWIly BpeMs MOJIeTa KakKJI0To peiica,
BpeMs npuObiTus B JIOHIOH (€ciu pa3HUIla BO BpEMEHH COCTaBIIsIeT 3 yaca, T.€. €Clid
B Mockse 12 yacos, To B JIongoHe 9 yacoB yTpa). I oTBETUTH Ha BONPOC: HA KAKOM
OBl caMoJIeTe KaKoil aBUAaKOMIIAHWUHU BBl OB COBEPIIIUIIH TOJIET U TToUeMy?

Time table:

Airline Direct Time of | Distance Destination | Ticket
flight / a | leaving (to London) | price
change and - Time

arrival

Aeroflot direct 09:50 — 4 hours 15]9:05 13111
flight 12:05 minutes roubles

Aeroflot direct 13:40 — 4 hours 20 |13:00 13111
flight 16:00 minutes roubles




Aeroflot direct 19:10 — 4  hours 1518:25 13111
flight 21:25 minutes roubles

BritishAirways | direct 18:10 — 4  hours 10]|17:20 34484
flight 20:20 minutes roubles

Aeroflot direct 07:05— 4 hours 25]6:30 13111
flight 09:30 minutes roubles

AirFrance lchange | 15:15- 8 hours 5]18:20 20718
21:20 minutes roubles

Airaltic 1 change | 04:50— 5 hours 50]5:40 7835
08:40 minutes roubles

Pbeda, Ryanair | 1 change | 08:10— 9 hours 15]12:25 7700
15:25 minutes roubles

AirBaltic 1 change |09:45— 8 hours 55]13:40 7835
16:40 minutes roubles

KLM 1 change | 17:00— 5 hours 55/|17:55 12305
20:55 minutes roubles

- Stick answers to the black board.
- You can go to London by car too. Does it take more time to travel by car or by
plane? (It takes less time to travel by plane because there is a direct flight to London).
- You are right. When you go by car your distance is 2865 kilometers, it is about
2900 kilometers. Now you have a problem. You go by car at a speed of 100
kilometers per hour. Your distance is 2900 kilometers. How long will you go? (29
hours). How much petrol (6ensun — what does a car drink) do you need? There are 10
litres of petrol for 100 kilometres. (290 litres) How much does your travelling by car
cost? The price of 1 litre of petrol is 44 roubles. What is the price? How many
roubles do you need? (12760 roubles)
Ceiiuac Balia 3aaaya. BBIUYHCIIUTH BpCM:A B IIyTH, €CJIn €XaTb CcO
cpeaueiickopocThio100km/u (29 yacoB), CKONBKO JIUTPOB OCH3MHA HYXKHO 3aTPATHTh
Ha JIOpory, eciam pacxonx OcH3mHa coctaBisier 10 mutpoB Ha 100 kM myrm (290
JUTPOB), CKOJIBKO OYyZET CTOMTH MOE3[Ka HAa MalluHe, eciu | JuTp OCeH3WHA CTOWT
npumMepHo 44 py0ia?(290-44=12760).

5. IonBenenue utoros. Pediexkcust

Ha nocke wm3o0pakeHbl 1BE KOJIOHKH ¢ 3arojoBkamu by plane, by car.
y‘—IaIHI/IeCSI pacnpeaciialOT CTUKCPBI B COOTBCTCTBUHU C JKCJIAHUCM ITIYTCIICCTBOBATDL HA
CaMOJICTC UJIN aBTOMO6HJ'Ie, 06’[>$ICH$IIOT, IIo4YCMYy.
-There are stickers on you desks. If you want to fly to London by plane, take a red
one and put it in the first column. If you want to go by car, take a green one and put
it in the second column.

- Is it better to travel by car or by plane? How would you like to travel and
why? Explain your choice.



